515 520 Ostwaldcolours (l_)) Y\\~=88,6 Xy=83,99,Y,,~88,59,7,,=95,08 BD
0P~ 525 Max (m)_ c_hromatlc value, D65 %w=0,3137y,=0,3309 +40
MFH'Omat'C'%(Xlov Y10 Ag=(ag-[20,r+a0 y+ao Al) Y 2 o7
ame and spectral range Bo=(bo~[bo.r+bo y+bo.a)) Y
Ry 561_770 ¥, 520_770 070 0.nTR0, YR, 5
Gm 475_573 (G, 380_561 ag = ao [x/y] 4L 3
1Bm 380_520 M, 573_475 bg = bao [2M)
ay =1, byp=-0,4 A
1 1 1 Lo
n=D65 4o ' ' 40
25700 ag,y=ay(Y/Y1g-1)
b, y=boy(Y/Y1g-1)
a,,=0,000,5,,=0,000 5 T 27
30,4=0,000,by 4=0,000
/ CIE 1964 X10 Ostwaldcolours (0) Y\=88,6 21 9
0,0 + Zge5e: max (m) chromatic value, D65 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Aq 10 Bg10)
CE351-1A_1 CE351-2A_1
X,=83,99,Y,~8859,2,79508 B, X,=83,99,Y,~88,592,=9508 B,
Xy=0,3137y,,=0,3309 Tagq Xw=0,3137y,,=0,3309 T 40
Ar=(ar~[ag n+ay yt+ag al) Y 67 Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y B;=(b—[by 02 y+02 Al) Y
ag = a0 [(x-0,179y] 0 L 8 2y = a0 [(x=0,17D/y] -
by =byo [ZA =bs0 [(Mpx+bp1)/Y] 8 le7
ay=1, byp=-0,4 A ay=1, byp=-0,4 38 A
mp1=1,000,bp;=0,171 , , il Mp=-0,157 bp;=0,385 , 0 2
n = D65 —40 ' ; 40 n = D65 _40 c ' 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 50
by v=bay(Y/Y1g-1) by v=bay(Y/Y1g-1) 2l g
8,y=0,000,0,,=0,000  ° T 2 a,,=0,000,5,,=0,000 T
ay 4=0,000,; 4=0,000 a, x=0,000,b; ,=0,000
Ostwaldcolours (o) Y\y~88,6 21 9 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10
CE351-3A_1 CE351-4A_1
X,=83,99,Y,~8859,2,79508 B, X,=83,99,Y,~88,592,=9508 B,
Xy=0,3137y,,=0,3309 X0 Xw=0,3137y,,=0,3309 E
Ag=(az-[ag ytag y+agal) Y As=(ag-[ag ntas,y+asal) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y 78 67 B,4=(b4~[Dy, 7+by y+by l) Y
ag = a0 [(x-0,172/y] ay =2y [(x-0,171/y]
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y] B o7

8

a0= 1, byo= 0,4 0 A ap0=1, byo= -0,4 /‘7‘*"—‘_0‘0\3’3 A
mp;=-1,344,bp,=0,781 n 3 mp;=-0,157,bp;=0,385 n n N
n = D65 —40 40 n = D65 _40 ' ' 40
a3 y=ay(Y/Y1g-1) 27 3y, y=agy(Y/Y1g-1) 5
b y=boy(Y/Y1g-1) by y=boy(Y/Y1g-1) 209 T
,y=0,000,0,,=0,000 5 a,,=0,000,5,,=0,000
a3 4=0,000,b3 4=0,000 219 a4, x=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 T-40
chromatic value Az10, B310 chromatic value A410, B410

CE351-5A_1 CE351-6A_1
X,=83,99,Y,~8859.2,79508 B, X,=83,99,Y,~88,592,=9508 B,
X=0,3137y,,=0,3309 +40 Xy=0,3137y,,=0,3309 +40
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs +bs y+05 ) Y e Bg=(bs~[Dg,n+bs y*+0p Al) Y 78 |67
a5=a,,{(0,86x-0,71y-0,026)$] L 67 ag =y [x/y] F 38
bs=by,[(0,19+0,38/-0,240)(460 38 bg=b20 [(Mp1x+bp1)/Y]
a5, = 1,00,b, = 1,00 A ay0=1, byg=-0,4 A
Ag.G.y,R=475,503,574,494C ), nm 5 , , , 6
n = D65 —40 ' 40 n = D65 —40 ' ' 40
a5 y=apy(Y/Y1g-1) 5 ag y=apy(Y/Y1g~1) 27
bs y=boy(Y/Y1g~1) J b, y=boy(Y/Y1-1) 1
,,=0,000,5,,=0,000 2178 a,,=0,000,5,,=0,000 50
a5 4=0,000,b5 ,=0,000 a5,4=0,000,b5 4=0,000 21| 9
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~=88,6
max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 T-40

chromatic value (As 1. Bs 10

chromatic value Ag 10, Bg10

CE351-7A_1

CE351-8A_1




515 520 Ostwaldcolours (l_)) Y\\~=88,6 X,~=85,68,Y,,~88,58,2,,=72,12 BD
0,8 5309 525 max (m) chromatic value, D50 X=0,3477y,,~0,3595 T40
Mghromaticity (10, Y10) Ao=(ag—[3g r+ag y+ Y
Name and spectral range Bo=$o_{zg'"+§g'v+zg'ﬂ§ v 80
R 561 770 ¥, 520 770 G T B8 89
G 475573 G, 380_561 39 =890 [XV] + 0
9 Rm 380 520 M, 573 475 bg = bao [2M) 58
ay =1, byp=-0,4
Ao
. . . N
n = D50 —40 ' ' 40
25700 ag,y=ay(Y/Y1g-1)
Bo,y=by(Y/Y1g-1) 4 1 ey
apy=0,000,5,y=0,000
29,2=0,000,by 4=0,000 18 (7
(= CIE 1964 X10 Ostwaldcolours (0) Y\=88,6
0,0 + 70565er max (m) chromatic value, D50 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ag 10 Bg10
CE351-1A_1 CE351-2A_1
X,=85,68Y,~8858.2,~1212 B, X,=85,68Y,~88582,~7212 B,
Xy=0,3477y,=0,3595 240 Xw=0,3477y,,=0,3595 240
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y 80 59 Bo=(by=[by +bs y+0y Al) Y
ay = ayo [(x-0,17D/y] X ay = a0 [(x—0,17D/y] 4
by = by [z 8 9 =bs0 [(Mpx+bp1)/Y] 80| gg
ap0=1, byy=-0,4 850= 1, byg= -0,4 A
myp1=1,000,b3=0,171 ! ! ot mp;=-0,157,bp1=0,385 ! y o2
n = D50 —40 ' ' 40 n = D50 -0 ' N 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 18
by y=boy(Y/Y1g~1) 4 1 30 b2 v=boy(Y/Y1g-1) |
a,y=0,000,5,,=0,000 apy=0,000,5,,=0,000
a; 4=0,000,b; A=0,000 187 ay,2=0,000,b, 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10
CE351-3A_1 CE351-4A_1
X,=85,68Y,~8858.2,~1212 B, X,=85,68Y,~88582,~7212 B,
%y=0,3477y,=0,3595 240 Xw=0,3477y,,=0,3595 240
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = a0 [(x-0,17D/y] L@ o a4 =350 [(x=0,179)/] gs
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y] 80 6o
ax0=1, byo= —0,4 P'( ay0= 1, byo= -0,4 /)‘Sﬂ—‘—NQ A
mp;=—1,344,bp,=0,781 L N mp;=-0,157,bp1=0,385 ! h o
} ! » t t t »
n = D50 —40 30 40 n=D50 40 M / 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) 18
b y=boy(Y/Y1g-1) 4 gl by y=boy(Y/Y1g-1) v
a,y=0,000,5,,=0,000 187 ay=0,000,b,y=0,000
ag 5=0,000,b3 x=0,000 ay,4=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40
chromatic value Az10, B310 chromatic value A410, B410
CE351-5A_1 CE351-6A_1
X,=85,68Y,~8858.2,~1212 B, X,=85,68Y,~88582,~7212 B,
%y=0,3477y,=0,3595 240 Xy=0,3477y,,=0,3595 240
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
a5=a,{(0,86¢-0,71-0,026)4] 8% g0 ag = a0 [x/y] W
bs=b,[(0,19+0,38/-0,240)§] bg=bao [(Mp1x+0p1)/y]
a5, = 1,00,by, = 1,00 8 39 ay0=1, byy=-0,4 A
Ag,G,y,R=475,503,574,494C\E nm A N \ 58 , ) o
{ t t » } t t »
n=D50 -40 40 n=D50 -40 309 40
a5 y=ay(Y/Y1g-1) 49 ag y=apy(Y/Y1g-1)
bs v=bay(Y/Y1g-1) 187 bg y=bay(Y/Y1g-1) 5 L
a,y=0,000,5,,=0,000 apy=0,000,b,y=0,000 1817
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40

chromatic value (As 1. Bs 10

chromatic value (Ag 10. Bg 10

CE351-7A_1

CE351-8A_1




Ostwaldcolours (o) Y\\=88,6

X4=90,14Y,~88,59,7,757,09 B,

515 520 -
0,8 5409 525 max (m) chromatic value, P40 Xy=0,3822y,,=0,3756 T40
Mghromaticity (10, Y10) Ao=(ag—[3g r+ag y+ Y
Name and spectral range Bo=$o_{zg'"+§g'v+zg'ﬂ§ v
Ry 561_770 ¥, 520_770 Ul le" YR, 82 7o
L. Gm475.573 G,380_561 39 =890 [XV]
SRm 380_520 M, 573_475 bg = bao [2M) 7 40
ay =1, byp=-0,4 A
+ t t #0
n = P40 -40 40
38700 ag,y=agy(Y/Y1g-1) 3
b, y=boy(Y/Y1g-1) 48
ayy=0,000,b,y=0,000 15 [g
ag =0,000,by A=0,000
M CIE 1964 X10 Ostwaldcolours (0) Y\=88,6
0,0 + Zgg65er max (m) chromatic value, P40 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ag 10 Bg10
CE351-1A_1 CE351-2A_1
X,=90,14Y,~8859,2,757,09 B, X=90,14,Y,~88,592,57.09 B,
%y=0,3822y,,=0,3756 240 Xw=0,3822y,,=0,3756 240
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y 82 Bo=(by=[by +bs y+0y Al) Y
ag = a0 [(x-0,179y] L 572 8 = a9 [(x-0,179/y] +
by =byo [ZA 7 0 0,=byo [(Mp1x-+bp1)/y] 84 7
ay=1, byp=-0,4 ay=1, byp=-0,4
my1=1,000,b71=0,171 n : L mpy=-0,157bp;=0,385 4 n o A
f t t b i t t b
n=P40 -40 40 n = P40 -40 43 > 4o
ay,y=ay(Y/Y1g-1) 3 a5 y=agy(Y/Y1g-1) 15 g
by y=boy(Y/Y1g~1) . 1 by v=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 159 a,,=0,000,5,,=0,000
ay 4=0,000,; 4=0,000 a, x=0,000,b; ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, P40 T-40 max (m) chromatic value, P40 T-40
chromatic value (A; 10, B110) chromatic value A, 10, Bo10)
CE351-3A_1 CE351-4A_1
X,=90,14,Y,~8859.2,757,09 B, X=90,14,Y,~88,592,57.09 B,
%y=0,3822y,,=0,3756 240 Xy=0,3822y,,=0,3756 240
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
a3 = a0 [(x-0,172/y] 18272 40 ay = a0 [(x-0,172/y] +
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y] 827,
ay=1, byp=-0,4 ay =1, byp=-0,4
Mp;=-1,344,bp,=0,781 4 \ N mp;=-0,157,0p;=0,385 [, —0\0\.4.0 A:"
o + T b i i U t b
n = P40 —40 }/’ 40 n=P40 -0 ey | J 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) 154
b y=boy(Y/Y1g-1) o | by y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 15 a,,=0,000,5,,=0,000
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~=88,6
max (m) chromatic value, P40 T-40 max (m) chromatic value, P40 T-40
chromatic value Az10, B310 chromatic value A410, B410
CE351-5A_1 CE351-6A_1
X,=90,14Y,~8859.2,757,09 B, X=90,14,Y,~88,592,=57,09 B,
%y=0,3822y,,=0,3756 240 Xy=0,3822y,,=0,3756 240
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
as=ay,[(0,86x-0,71y-0,026)§] 4 g = a0 [X/y] 8 72 10
bs=b,[(0,19+0,38/-0,240)§] 8 72 bg=bao [(Mp1x+0p1)/y]
age = 1,00,by = 1,00 “0\4\0 a30= 1, byo= ~0,4 d/o A
Ag.G.y,R=475,503,574,494C\E, nm ; 5 \ 4, \ 6
n = P40 _40 ) ) 40 n = P40 _40 ' S
a5 y=ay(Y/Y1g-1) 48 ag y=apy(Y/Y1g-1)
bs v =by(Y/Y1g-1) 15¢ Bg,y=boy(Y/Y1g-1) 48 -1

a,y=0,000,b,y=0,000

a5 5=0,000,b5 ,=0,000
Ostwaldcolours (o) Y\y=88,6
max (m) chromatic value, P40
chromatic value As 10, Bs 10

ay=0,000,5,y=0,000
a5,4=0,000,b5 4=0,000

Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, P40

chromatic value Ag 10, Bg10

CE351-7A_1

CE351-8A_1




Ostwaldcolours (o) Y\\=88,6
o525 max (m) chromatic value, AOO
Mghromaticity (X1, Y10

Name and spectral range
Ry 561_770 ¥, 520_770

4 Gm 475_573 G, 380_561
Mg 380 520 M,573_475

X4=98,46Y,~88597,~3118 B,
Xy=0,4511y,,=0,4059 E
Ag=(ag=[ag n*ag,y*ap,al) Y
Bo=(bo~[bo,ri+bo y+bo,al) Y

29 =ago [x/y] g
bo =bao [2] 70
ay=1, byp=-0,4 ?1(50/
n = A00 —40 }’\0_
ag,y=ay(Y/Y1g-1) 46

b, y=boy(Y/Y1g-1) 13

ay=0,000,5,y=0,000
a5,4=0,000,by 4=0,000

e CIE 1964 X10 Ostwaldcolours (0) Y\=88,6
0,0 + Toge5e- max (m) chromatic value, AOO T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ag 10 Bg10)
CE351-1A_1 CE351-2A_1
X,=98,46Y,~8859.2,731,18 B, X4=98,46Y,~88592,~3118 B,
%w=0,4511y,,=0,4059 210 Xy=0,4511y,,=0,4059 E
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by = byo [z 70 75 =bs0 [(Mpx+bp1)/Y]
ap0=1, byy=-0,4 "‘0\4?2 850= 1, byg= -0,4 70 75 A
my1=1,000,b5;=0,171 F"gO/ ) M Mp;=-0,157,0p1=0,385 ﬁog 4 2
n=A00 —40 /.;B,J 40 n=A00 —40 46 40
ay,y=ay(Y/Y1g-1) 46 e a5 y=agy(Y/Y1g-1) B 17
by y=boy(Y/Y1g~1) 3 by v=boy(Y/Y1g-1) 1
a,y=0,000,5,,=0,000 apy=0,000,5,,=0,000
ay o=0,000,b; x=0,000 ap,4=0,000,b, 5=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10
CE351-3A_1 CE351-4A_1
Xy=98,46,Y,,-88,59,2,,=31,18 B3 Xy=98,46,Y,,~88,59,7,,=31,18 B4
xy=0,4511y,,=0,4059 +40 X=0,4511y,,~=0,4059 +40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = ag [(x-0,171)/y] 1 a4 =ay[(x=0,17D/y] 4
b3=byo [(Mp1x+bp1)/y] 75 42 =50 [(Mp1x+bp1)/Y]
ap0= 1, byg=-0,4 - a50= 1, byg= -0,4 70 75
mp1=—1,344 b5,=0,781 o | Ay Mp;==0,157bp1=0,385 % 2 A
n=A00 —40 9 o 40 n=A00 —4o 46 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) & 17
b y=boy(Y/Y1g-1) 46 13 by y=boy(Y/Y1g-1)
a,y=0,000,5,,=0,000 T ay=0,000,b,y=0,000 T
ag 5=0,000,b3 x=0,000 ay,4=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~88,6
max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40
chromatic value Az10, B310 chromatic value A410, B410
CE351-5A_1 CE351-6A_1
X,=98,46Y,~8859.2,~31,18 B, X=98,46Y,~88,59.2,~3118 B,
x,=0,4511y,,=0,4059 +40 X=0,4511y,,=0,4059 +40
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(5-[bs n+bs y+05 Al) Y Bg=(b5~[Pg 10 y+05 Al) Y
as=ay,[(0,86x-0,71y-0,026)§] 4 g = a0 [X/y] +
bs=by,[(0,19x+0,38/-0,240)§] 0 75 bg=b20 [(Mp1x+bp1)/Y] 75 42
apy = 1,00,b, = 1,00 o 850=1, byg= -0,4 -
Mooy 475503574 20408 | O —~g As .| .35 As
RGO — } } » = AGO — 5t »
n=A 4o e 80 40 n=A 4o |
a5 y=ay(Y/Y1g-1) 13 17 ag y=apy(Y/Y1g-1)
bs v =by(Y/Y1g-1) 1 Bg,y=boy(Y/Y1g-1) 46 13 |
a,y=0,000,5,,=0,000 apy=0,000,b,y=0,000
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40

chromatic value (As 1. Bs 10

chromatic value Ag 10, Bg10

CE351-7A_1

CE351-8A_1




515 520 Ostwaldcolours (0) Y\\~=88,6 X,~=88,58,Y,,~88,58,7,,~88,59 BD
0P~ 525Mme;§n(1r22i§iit1;o(r;13t|; \g)alue, EOO0 %=0,3333y,=0,3333 o +40
i Nar%% alnd spectral range étg;o_{zg":zgvizgﬂi i 69
Ry 561_770 ¥, 520_770 070 0.nTR0, YR,
Gm 475_573 G, 380_561 29 =ago [x/y] 0 T 9
Bam 380 520 M, 573_475 bg = bao [2M)
ay =1, byp=-0,4
Ao
. . . N
n=E00 4o ' ' 40
25700 ag,y=ay(Y/Y1g-1)
Bo,y=by(Y/Y1g-1) 4 1 o
apy=0,000,5,y=0,000
a5,4=0,000,by 4=0,000 e
) CIE 1964 X10 Ostwaldcolours (0) Y\=88,6 8
0,0 + TgeSEE max (m) chromatic value, EO0 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Aq 10 Bg10)
CE351-1A_1 CE351-2A_1
X,~88,58,Y,~8858.2,78859 B, X,=88,58 Y,~88,58,2,~8859 B,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,=0,3333 240
Ar=(ar~[ag n+ay yt+ag al) Y 79 69 Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y B;=(b—[by 02 y+02 Al) Y
ag = a0 [(x-0,179y] 0 T+ 9 2y = a0 [(x=0,17D/y] L
by =byo [ZA =bs0 [(Mpx+bp1)/Y] 7 leo
80=1, byp=-04 =1, by=-04 39 A
my1=1,000,b5;=0,171 ) ~ Mpy=-0,157,bp1=0,385 ) , 2
n = E00 —40 ; 40 n = E00 _40 ) ' 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) &
by y=boy(Y/Y1g~1) by v=boy(Y/Y1g-1) 19 g
a,y=0,000,5,,=0,000 T 2 apy=0,000,5,,=0,000 T
ay o=0,000,b; x=0,000 S ap,4=0,000,b, 5=0,000
Ostwaldcolours (o) Y\y=88,6 8 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, EOO T-40 max (m) chromatic value, EOO T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10
CE351-3A_1 CE351-4A_1
X,~88,58,Y,,~8858.2,78859 B, X,=88,58 Y,~88,58,2,~8859 B,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,=0,3333 240
Ag=(az-[ag ytag y+agal) Y As=(ag-[ag ntas,y+asal) Y
Bg=(bg~[bs,nths y+bs Al) Y 79 69 B,=(b4=[Dg 04 y+04 Al) Y
ag = a0 [(x-0,172/y] ay =2y [(x-0,171/y]
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y] 79 69

ay=1, byp=-0,4

850= 1, byo= -0,4

i 9
/,{ A /oeer"‘ "‘o\oﬁg A
Mp1=-1,344,05;=0.781 ' : : Mp;=-0,157 bp;=0,385 : ' Ay
n=E00 -40 40 n = E00 -40 40
a3 y=ay(Y/Y1g-1) }/ 3y, y=agy(Y/Y1g-1) &
b y=boy(Y/Y1g-1) L by y=boy(Y/Y1g-1) 19g [
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a3 4=0,000,bz 4=0,000 198 a, 5=0,000,b, x=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, EO0 T-40 max (m) chromatic value, EO0 T-40
chromatic value Az10, B310 chromatic value A410, B410
CE351-5A_1 CE351-6A_1
X,=88,58,Y,,~88,58.2,~88,59 B, X,=88,58,Y,,~88,582,-8859 B,
Xy=0,3333y,,=0,3333 X0 X=0,3333y,,=0,3333 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bg=(05[bs n+bs y+bs Al) Y Bg=(bg[bg,ri+b v+bs Al) Y 79 |69
as5=a,,((0,86x-0,72y-0,026)y] A 69 a6 = agg [X/y] a8 39
bs=by,[(0,19x+0,38/-0,240), 9 bg=b20 [(Mp1x+bp1)/Y]
a5, = 1,00,b, = 1,00 A ay0=1, byg=-0,4 %0 A
Ag,G,y,R=475,503,574,494C\E nm h N n n ' 6
n = E00 _40 \ ' 40 n = EO00 _40 ' ' 40
a5 y=ay(Y/Y1g-1) ag y=apy(Y/Y1g-1) 28
bs y=boy(Y/Y1g~1) b, y=boy(Y/Y1-1)
a,y=0,000,b,y=0,000 197g a,y=0,000,b,y=0,000 49 u
a5 5=0,000,b5 ,=0,000 a5 5=0,000,b5 x=0,000 191 8
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, EO0 T-40 max (m) chromatic value, EO0 T-40

chromatic value (As 1. Bs 10

chromatic value Ag 10, Bg10

CE351-7A_1

CE351-8A_1




Ostwaldcolol

urs (0) Y\\~88,6

o525 Mmax (m) chromatic value, CO0

X,=86,18,Y,~88,59,7,~102,89 B,

X=0,3103y,,=0,3190 +
MFH”’"“""“C“V (x10 Y10 Aq(2o-[20 20 +20,A) Y e
Name and spectral range Bo=(b '[bov +b0' +bovA])
Rm 561_770 ¥, 520_770 070 0.nTR0, YR, 2
Gm 475 573 G, 380_561 ag = ao [x/y] 4L 9
%,. 380 520 M, 573 475 bg = bao [2M)
ay =1, byp=-0,4
A
\ \ \ ,
n=C00 —40 ' ' 40
%0 ag y=apy(Y/Y1g-1)
b, y=boy(Y/Y1g-1) 1
a,y=0,000,b,,=0,000 4 2
a9 A=0,000,by ,=0,000
9 CIE 1964 X10 Ostwaldcolours (0) Y\=88,6 24
0,0 + 7065e- max (m) chromatic value, CO0 T
0.0 0’2 0.4 0.6 08 10 chromatic value (g0 Bg10)
CE351-1A_1 CE351-2A_1
X,,=86,18Y,=88,592,=10289 B, X,=86,18,Y,,=88,50.2,7102,89 B,
X=0,3103y,,=0,3190 +aas X=0,3103y,,=0,3190 T 40
Ar=(ar~[ag n+ay yt+ag al) Y 64 Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
a1 =y [(x-0,172)y] 9 2y = 250 [(x-0,171/y] 5t
=hyo[2/M] =bs0 [(Mpx+bp1)/Y] 64
a20 1, byo=-0,4 A ay0=1, byy=-0,4 sz 39 A
mr,=1,000,b4=0, 17,1 , \ Mp;=-0,157 bp;=0,385 ’ 2
n =C00 ' 40 n=C00 40 J t y
3y, y=ay(Y/Y1g- 1) a5 y=agy(Y/Y1g-1) 49
by v =boy (Y/Y1g-1 03 y=boy(Y/Y1g-1) 241 7o
a,y=0,000,b,y=0, 000 2 a,y=0,000,b,y=0,000
ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 24 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, CO0 max (m) chromatic value, CO0 T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10
CE351-3A_1 CE351-4A_1
X,,=86,18Y,=88,592,=10289 B, X,=86,18,Y,,=88,50.2,7102,89 B,
X=0,3103y,,=0,3190 L40 Xw=0,3103y,,=0,3190 T 40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B=(bg[bs b3 y+b3.4]) Y 864 B,=(D4~[04,*Ds y by A) Y
ag = ay[(x-0,17D/y] 9 ay =2y [(x-0,171/y] T 7
b3=byo [(Mp1x+bp1)/y] b=, [(Mpyx-+bp1)/y] 64
a50= 1, b= -0,4 A a0=1, b= 0,4 /"Gr‘_o\ﬂ\-}g A
Mpy=-1,344 bm—o 781 \ mp;=-0,157 bp;=0,385 \ \ M
n=C00 40 n=C00 40 t t y
ag y=ay(Y/Y1g- 1) 5 3y, y=agy(Y/Y1g-1) 4
b3 y=boy (Y/Y1g-1 by y=boy(Y/Y1g-1) 2490 1
2,y=0,000,b,y=0, ooo a,y=0,000,b,,=0,000
ag A=0,000,b3 ,=0,000 24 10 a, o=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~=88,6
max (m) chromatic value, CO0O T-40 max (m) chromatic value, CO0 T-40
chromatic value Az10, B310 chromatic value A410, B410
CE351-5A_1 CE351-6A_1
X,=86,18,Y,=88,592,=10289 B, X,=86,18,Y,,=88,50.2,7102,89 B,
Xy=0,3103y,,=0,3190 L40 X=0,3103y,,=0,3190 140
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs +bs y+05 ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y 64
a5=a,,{(0,86x~0,71y~0,026)¥] 64 ag = a5 [Xy] T 39
b5=b2x[(0,19<+0,3&—0,240) 9 bs=bog [(Mp1X+bp1)/y]
=1,00,b,, = 1,00 A ay0=1, byy=-0,4 A
)\B 6,v,R=475,503,574,4940 )¢ nm \ \ 6
n=C00 \ ) 40 n=C00 _40 ) 40
a5 y=agy(Y/Y: 18_1) ag y=apy(Y/Y1g~1) 2
bs y=boy(Y/Y1g~1) b, y=boy(Y/Y1-1) 1
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000
a5 4=0,000,b5,4=0,000 iy a5,4=0,000,b5,4=0,000 e
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, CO0 T-40 max (m) chromatic value, CO0 T-40

chromatic value (As 1. Bs 10

chromatic value (Ag 10. Bg 10

CE351-7A_1

CE351-8A_1




515 520 Ostwaldcolours (l_)) Y\\~=88,6 Xw=90,69,Y,,~88,59,7,,=71,98 BD
0,8 5409 525 max (m) chromatic value, P00 Xy,=0,3609y,,=0,3525 T40
b Mghromaticity (10, Y10) Ao=(ag—[3g r+ag y+ Y
)é% U Name and spectral range BO=EZD—E§"+EEVV+Z';$ Y 817
Ry 561_770 ¥, 520_770 Ul le" YR,
GmA475.573 G, 380_561 39 =890 [XV] T+ .
{0iRm 380_520 M, 573_475 bg = bao [2M) 6
O a50=1, byg= -0,4
Ao
. . N
n = P00 —40 ' 40
25700 ag,y=ay(Y/Y1g-1)
Bo,y=by(Y/Y1g-1) 4 1 3
ayy=0,000,b,y=0,000
ag =0,000,by A=0,000 17 7
CIE 1964 X10 Ostwaldcolours (0) Y\=88,6
max (m) chromatic value, POO T-40
0,4 0,6 0,8 1,0 chromatic value (Ag 10 Bg10)
CE351-1A_1 CE351-2A_1
Xw=90,69,Y,,=88,59,2,,=71,98 81 Xw=90,69,Y,,~88,59,2,,=71,98 B2
Xy=0,3609y,,=0,3525 +40 X=0,3609y,,~0,3525 +40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y 8171 Bo=(by=[by +bs y+0y Al) Y
ag = a0 [(x-0,179y] T 8 = a9 [(x-0,179/y] +
by =byo [ZA 6 9 =bs0 [(Mpx+bp1)/Y] 81| 79
ap0=1, byy=-0,4 850= 1, byg= -0,4 3 A
myp1=1,000,b3=0,171 ! ! ot mp;=-0,157,bp1=0,385 ! o2
n = P00 —40 ' ' 40 n = P00 -0 B ' N 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 7
by y=boy(Y/Y1g~1) 4 |l 3 by v=boy(Y/Y1g-1) 17
a,y=0,000,5,,=0,000 apy=0,000,5,,=0,000
ay o=0,000,b; x=0,000 177 ap,4=0,000,b, 5=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10
CE351-3A_1 CE351-4A_1
X,=90,69.Y,~8859.2,~71,98 B, X4=90,69Y,~8859.2,~7198 B,
%y=0,3609y,,=0,3525 240 Xy=0,3609y,,=0,3525 240
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ao [(x=0,172/y] |87l o ay = a0 [(x-0,179/y] 1
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y] 8171
a0= 1, byo==0,4 /’( ap0=1, byo= -0,4 /oae——o\o\%g A
Mp;=-1,344,bp,=0,781 A : N mMp;=-0,157,bp1=0,385 . N
n = P00 —40 ' 318 40 n = P00 -0 R ] 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) 17
b y=boy(Y/Y1g-1) b il by y=boy(Y/Y1g-1) v
a,y=0,000,5,,=0,000 177 ay=0,000,b,y=0,000
a3,4=0,000,b3 4=0,000 a,,4=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~=88,6
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40
chromatic value Az10, B310 chromatic value A410, B410
CE351-5A_1 CE351-6A_1
Xy=90,69,Y,,=88,59,2,,=71,98 B5 Xw=90,69,Y,,~88,59,2,,=71,98 B6
x,=0,3609y,,=0,3525 +40 X=0,3609y,,~0,3525 +40
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
as=a,,{(0,86-0,71y-0,026)4] o 71 ag = ayo [x/y] Al o
bs=b,[(0,19+0,38/-0,240)§] bg=bao [(Mp1x+0p1)/y]
apy = 1,00,bp, = 1,00 \0\3{ ay0= 1, byo= -0,4 A
\g,G.v,R=475,503,574,4940E, nm 3 5 ) 6 6
n = P00 —40 : ' 40 n = P00 —40 ' 318 40
a5 y=ay(Y/Y1g-1) 48 ag y=apy(Y/Y1g-1)
bs y=boy(Y/Y1g~1) 175 b, y=boy(Y/Y1-1) 48 1
a,y=0,000,5,,=0,000 apy=0,000,b,y=0,000 1717
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40

chromatic value (As 1. Bs 10

chromatic value (Ag 10. Bg 10

CE351-7A_1

CE351-8A_1




Ostwaldcolours (o) Y\\=88,6
o525 max (m) chromatic value, Q00

X,=86,50,Y,~88,59,7,~104,91 B,

M st o Xy,=0,3089,,=0,3163 78 +40
romaticity (X1, =]
i Nar%% glnd spectral range étg;o_{zg":zgvizgﬂi M o3
Ry 561_770 ¥, 520_770 Ul le" YR, 2 g
4 Gn 475 573 G380 561 39 =890 [XV] +
NodBm 380_520 M, 573_475 bg = bao [2M)
ay =1, byp=-0,4
Ao
. . . N
n= Qo0 4o ' ' 40
25700 ag,y=ay(Y/Y1g-1)
b, y=boy(Y/Y1g-1) 1
apy=0,000,5,y=0,000 4
a5,4=0,000,by 4=0,000 2
) CIE 1964 X10 Ostwaldcolours (0) Y\=88,6 24
0,0 + ZoY65e max (m) chromatic value, Q00 T-80
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Aq 10 Bg10)
CE351-1A_1 CE351-2A_1
X,=86,50,Y,,~88,59.2,~104,91 B, X,=86,50Y,~88,59,2,~104.91 B,
%y=0,3089y,,=0,3163 2438 Xy=0,3089y,,=0,3163 240
Ar=(ar~[ag n+ay yt+ag al) Y 63 Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y o B;=(b—[by 02 y+02 Al) Y
ag = a0 [(x-0,179y] 4 8 2y = a0 [(x=0,17D/y] 78 T
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y] 63
ap0=1, byy=-0,4 850= 1, byg= -0,4 T’_O\ 38 A
my1=1,000,b5;=0,171 ) ) 4 Mpy=-0,157,bp1=0,385 ) R 2
n=Qo0 40 ' ' 40 n=Qo0 -40 X ' 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 49
by y=boy(Y/Y1g~1) 1 b2 v=boy(Y/Y1g-1) 24] 9
a,y=0,000,0,,=0,000 4 apy=0,000,5,,=0,000
ay o=0,000,b; x=0,000 2 ap,4=0,000,b, 5=0,000
Ostwaldcolours (o) Y\y=88,6 2 Ostwaldcolours (o) Yy,~=88,6
max (m) chromatic value, Q00 9 T-40 max (m) chromatic value, Q00 T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10
CE351-3A_1 CE351-4A_1
X,=86,50,Y,,~88,59,2,~104,91 B, X,=86,50Y,~88,59,2,~104,91 B,
%y=0,3089y,,=0,3163 240 Xy=0,3089y,,=0,3163 240
Ag=(az-[ag ytag y+agal) Y o As=(ag-[ag ntas,y+asal) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y 63 B,4=(b4~[Dy, 7+by y+by l) Y
ag = ay[(x-0,17D/y] £ 8 ay =2y [(x-0,171/y] + 78
b3=byo [(Mp1x+bp1)/y] /162/ b=, [(Mpyx-+bp1)/y] 63
80=1, byp=-04 a=1, by=-04 /06-2/ CHEN
Mp1=—1,344 05,=0,781 [ \ 3 Mpy=-0,157,bp1=0,385 \ \ N
n=Qo0 —40 ' ] 40 n = Q00 _40 ' ' 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) 4
b3 v=b,y(Y/Y1g-1) 1 2 by y=boy(Y/Y1g-1) 24 91
apy=0,000,0,y=0,000 4 ay=0,000,5,y=0,000
ag 5=0,000,b3 x=0,000 249 ay,4=0,000,b, ,=0,000
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~=88,6
max (m) chromatic value, Q00 T-40 max (m) chromatic value, Q00 T-40
chromatic value Az10, B310 chromatic value A410, B410
CE351-5A_1 CE351-6A_1
X,=86,50,Y,,~8859.2,~104,91 B, X,=86,50,Y,~88,59,7,~104,91 B,
%y=0,3089y,,=0,3163 240 Xy=0,3089y,,=0,3163 240
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y e
Bs=(bs—[bs b5 v+bs Al) Y 78 Bg=(Pg—[bg n+bs,y+0s Al) Y 63
a5=2,,{(0,86¢-0,71y-0,026)y] 63 a = agg [X/y] T 38
b5=b2x[(0r19<+0~3&"0v240)C/% 8 bg=b20 [(Mp1x+bp1)/Y] (/\
apy = 1,00,b, = 1,00 850=1, byg= -0,4 A
\g,G.v,R=475,503,574,494C)E, nm 5 ) ) ) 6
n=Q00 —40 \ ; 40 n = Q00 _40 ' ' 40
a v=apy(Y/Y1g-1) ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) & bg y=boy(Y/Y1g-1) 1 2
ay=0,000,6,,=0,000 24 ay=0,000,5,y=0,000 49
a5 4=0,000,b5 5=0,000 9 a5,4=0,000,b5 4=0,000 24| o
Ostwaldcolours (o) Y\y=88,6 Ostwaldcolours (o) Y,~=88,6
max (m) chromatic value, Q00 T-40 max (m) chromatic value, Q00 T-40

chromatic value (As 1. Bs 10

chromatic value (Ag 10. Bg 10

CE351-7A_1

CE351-8A_1




